equation of a parabola which passes
the intersection, of a straight
3 = Dand the circle x* « y* + 4y -
Y =ax ) ¥ =x
B =y (d) nome of these
point (4 31 with respect to the ellipse
e+ 5yl -
lies on the curve

2k then the

between the vecors a « band a - bis
500 ()90
45 ) 55°
8 be a set containing n elements and we
two subsets A and E of  at random, then

®)

@ v
sin®@ . sin 0 |
1+ cos’dl cos? @ =
4sin40 1+ 4sin 40

™1
) -1

the  homogeneous  sysiem |

08 px+ y v 2 =02 4 gy
Tey+rz=0 where paral,
mon-zero slution.  then the

®) 0
@1
) lies on a circle x® + %=
point (3¢ + 2§ Is a/an

(a) straightline () 3

(d) none of these.
is an acute angle and sin:

tan #is equal to

fa) x¥ -1 )

(€) yx 41 ) el

The value of

Jsm Pdes jns Jade
is equal o2
@r ®) w2
) =/3 RS

ol {| sin x| =3

(a) n
(b) 21

() -2
1d) none of the above
Range of the

@ -1.0)
) 10,1
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0 Nu-t
then ¢ is equal 1o

2
-1

mber of bocks is 2r + 1. One is allowed
¢t & minimum of the one book and a
um of n books. If total mumber of
18 if 63, then value of n is :

®) 6
(d) none of these

(b) reflexive
(d) none of these

ant of a 3 x 3 mawix A be 6,
A%, Then

(b) 100

{d) mone of these
{1 ¥ oz<0
A+sinx v 0gxsn2
at is the value of f'(x)at x =07

(d) does not exist

d by the curve y* = 4x on

dy/de =1 and passing
. I8 given by

@ -4
©1

24. The number of
Iz

() Z solutions
25. Let A and B are two d
P (B1=0.4. P (A~ B') = 0.5 then

(@) 0.5 ) 0.8
1 @ 01

26. (10101101); =( B, ¥
(@) 137 ) 173
(© 170

) x*+y =
e (d) none of these
29. f(x)=ar’+ bx +cand g (x)= px* * g

g M)=/0)g@-f2=1g @0
then g (4)- f{4)ls =

@ o &) 5
6 (d) none of th
30. 1f the vectors ai+jelk,
i+ j+ k[rrﬂv-l]ar:mphmt
1
value of T——+ 3= is:
(a) -1

(a1
31. The circumcentre of a wiangle fos

linexy + Zx + 2y + 4 =Oand x + 3

@ (-L-1) (&) (@ -1

) (1.1) ) (-L0)
32, The mumber of commeon tangent
x% syt 4 2v+ By - 23=0and
x*+y?—4x-10y+9=0ls:
fa) 1
«© 2
33. 1 X !
then poin (1/a, LAY lies on
(a) suralgh line

{e) parabola



and

(b} (10,10, -3
i d) none of these
from a point (2% 1)t the
= 257" = 400 include an angle

) =4
(d) w3
 80d & arc four positive real number
their product is unity, then the least
@ a)le P+ 7+ Bis:

1
(d) none of these

IRERER oF the diffcrential equation
&, 1 (dr)} (4"
&) ()

3
il &) TT33

) 3
(d) none of these
x, ¥,)andQ (x; ¥, )are two pointssuch
x, and x, are the roots of the
nx® + 2x — 3= 0 while the ordinate ¥,
¥z are the roots of the equation
8y - 12= 0. The centre of the circle with

®) (1.2

@ L2
tion of plane passing through
1,3) and parallcl to the veciors

andb=(-32,2)is:

earth and R its radius, the
acceleration and the

() 2 -3 & 6 mg
) 2 3y + 6n & SHGHR
(© -2y 4 bgm25ug
@ -2y 2 634 2500
The exquation of a stray gl
mtm.“rmmm‘f“;‘:
O 120 t0 the x-axis is ;

3 -1

Bz 4 1-0
@) y =3 (x+ 1m0

Let 7 =11 oy - enn 3= g

(c} o® 4

) o -p*
< I £ =[24 + cos? (2 + /442, ghen

T in the plane of  and 7,
s comeat?
1) ® (2B1i=1
® {ral=1
sk Be-isd
y=i+j+k then what is te
o <[ (@ x1)?
(a)

® 74

© 74
(d) none of the above

47. A student unable to answer
Newton's laws of mation
himself up by tugging on

5 f
(@) as the force exened
(b} the fricticnal force:




not applicable 1o

is imemal 1o the

e following is not a unit of

" blue glass heawd w a high
re and a picce of red glass at room
are taken insidc a dimly lit room.

plece will look blue and red will
usual

and blue looks

Bt in a simple series circuit is 5.0 A
laddirional resistance of 2.0 Q is
current drops to 4.0 A. The
¢e of the circuit in ohms was
(by 8
() 20
es are connected in twe gaps of &
- The balance point is 20 cm from
Arssistance of 151 is connected
smaller of the two. The null

0 em. The value of Lhc smaller

colls-singly, in
d be able to obtain
162, The separace

54, In the g«vmnm:,n;.

The resistance of the

(a) 200 h) 100
() 10 ) 50
55. The wavelength of the rdiation e
body depends upon

ia) the nature of the surface
{b) the area of the surface

ic) the emperarure of the surface
(d) all of the above factors

56. Which mirror is to be used to obtaia)

(d) Any one of the above
e following is a wrong
D = 1/ f where f is the focallet
called the refractive pawer af

on the system of

i

D s positive for CONVerg
egative for divergent lens
58. An electric field of 1500 V/m
field of 0,40 Wh/m? act on @
The minimum uniform
line the electron could have it
@) 16x10%ms (b} 6

€ 275x10"ms  (d) 395
59. In an ammeter 10% of main
through the galvanometer.
the galvanometer is
resistance, in ohms:

(a) 96

(©) 906



r describing
Property that is
do not have
tie moment
Is explained in terms of
induction
have a small
tibility
netic moment of individual
meutralize each other
m coil works on the principle of

rule

s right hand rule
root of the product of inductance
tance has the dimension of :
(b) mass
i (d) no dimension
ationship between the force F
i x of a body is as shown in figure. The
ne in dlsp]znns the bedy from x =1m

and

(k) 157
(dy 20

p of a tower of rwn stones, whose
re thrown on

- Infrared radiation was,

@) wmm.. wol
® Wi nlun

© wm..m.. s
(d) Thamas vm?m

A particle on the trough afa

will come to the mean

I = time period)

ekt ) Tra
g @ ar

o
3

The dise of a siren eontaining 60 e
at & constant speed of 360 mm.
sound s in unison with o funing |

frequency ;
(@) 10Hz (b) 360 Hz
{€) 216 Hz (d) 60 He
68. The of velocity of sound in hy

oxygen at §TPis:

(a) 16: 1 () B:1
) 4:1 () 2:1
69 In an experiment w.:)\scmmn\d-

length of 16 cm. Tension of the

remaining constant the frequency of the;

tuning fork is

) 163,84 Hz

400 Hz
(c) 320 Hz
(d) 2048 Hz

70. The wave theory of light, in its ong
was first postulated by:

) o
(<) Thomas Young
(d) Augustin Jean Fresnel
. If a liquid does mot wet glass,
conbaL i ¢



lln-l smate(n), The

g are :

in a diode is increased,
don region :

- separation of one Fermi,
of + 1.6 107" C, The

them is F;, 1T both are
protons and F, if one is
is neutron. Then :

A @ conductor is raised,

doubled and the interspace be

is flled with wax. If the capaei

6 pF, the dielectric constant of
(b

80. The ener
to reduce its de-Broglie wavelength

t0 0.5 nm is
{a) four times the

(d) thrice the
81. Mean life of a radioactive sample is 100 5.
(in minutes) is:

ring the next time is &
for each nuclei
d in explosion decays first
the reactor decays firg
t of the time of creation

{€) mass of electron remains constant
(d) all the above conditions
84. Identfy the wrong statement in the follow
Coulomb's law correctly described the ele
force tha
(a) binds the electrons of an atom Gl
cleus ¥
(b) binds the protons and meutrons. in
nucleus of an atom
() binds atoms together to form
(d) binds atoms and molecules to forms
85. When unpolarised light beam fs i
air anta glass (n = 1.5) at the po
(@) reflected beam is polarised 100 p
(8) reflected and refracted heams are
polarised '
(€) the m-sufn for (a) is that
light is reflected
(dy allddwahm




silver salts is insolutle

93. Which of the following is d

fa) Zncl, a:

€] Hgcl, @) cac,
94, The velociy of electron in firsg

5 campared to the velocity of high

1
@) Lo 1

10 ®) gt
o L1

(b) Br, NBS
(d) NES, Br,
2 a 2)
with HF to form KHE, The - .

i B 7 2 == Cl, (g)+ Be (g)

und contzins the species ) COgh+ Hylg) e Cilyighe HOME
yFandH" (b) K*  F and HF d) A he above
“and[HE]" () [KHF]" and . Fai {at 1240 K and 1 atm)
CaC0 (3 —— Cas)+ 003 (g
i+ Bry —+'A, A will have configuration A A E will be :
(b) 1656 k)
(@ 180k

Br Br <1
® . Following compound is meated with NBS!
Br ~Br e

it (a) and (b) (d) none of these
following sets of quantum pum
ne is incorvect for 4d electron 7
L o /
"*i (b) 4,2 1. & 73 CHOH=Gy
< 3 = |
: =T

1 421-3

follawing resctions is I, <

Compound formed A i




d by bismuth nitrate to

{b) mesooxalic acid
(d) giyoxalic acid
factor (A) is @

i order

have any unit

m pressure will not affect the
for :

bonds are present
and adenine in DAY

(a) Ty, =Ty,
(©) Ty, <7y,

. In PO,q, the :

(a) second bond in P=0 is formed by
Back bonding

reagent reacts

involving

b)
CHLCHLHO  (d) CHyO0CH; &

Dinitrogen pentoxide (N0, &
solid, is prepared by :
(a) heating NH,NO, with an: "
(b} dehydrating HNO, with a0
() dehydrating HNO, with RO
() heasing a mixtare of




- The oxidation number of
weroxide i .

Isoprapyl bremide on Wartz reaction |
[a) he
CTollen's st ] g
) Todoform test (6} 2, 3-dimethyl butang
ent for pyrophosphorus acid (d) neo-hexane
Tetracthyl lead is a:
RS Cokiacion siae o troleum additive
asic acid n ;
¥ Ing agent g b
e . sy ot sim
ne P—O—F bond ‘ o “
(3) NaOH (b) Na O,
(€] NH, (d) NaCl
) BCN 5. Milk of magnesia is used as:
B it } antichk (h) amseid

i Choase the correct
out of the four responses g

with humiliation
fighting,
one’s final defeas

. You must pay respect 1o
1

a
respect foryou,  NoemoE
respect W

€
ctions : Choase the ward that
nearly appasite in meaning to the
capital leters at the question place:
DREARY
) Drab
(&) Beautiful
. GREGARIOUS!
{ay Antisocial
(b Horrendous
(G] Samdlar
() Glorious




td) Inteligent

(b) Revoke
(d) Resign

(b) Competent
(d) Fenile

Directions : In sach af

four parts of & sentence are givy
S, Put them in proper order to pro
sentence.

P: 1 decided to call on him

Q : at the earliest epportunity

R : having heard of the palmist
5 : before 1 came into town

{a) RSPQ (b) PQRS
(<) SQPR (d) QPRS
P : when a chemical substance
Q : the food poisoning occurred
R : in the food preparations

5 was mistaken for salt and used
(a) ROPS (b) SRQP
(c) QPSR (d) PSRQ

d to Happiness in the same way

related to©
b) Anger
(d) Sadness
question, fuurgmups of letters

(d) DEJK

Inngmhysalzcrmg,om
n the four alternative:

Statements :

Some participants in the race are
Il female participants in the race are

Conclusions :

Al participants in the race are im

All students are invited for o
ricipants in the race are




m) w
© 41

What terms will il lhe Nntm
XV, TR, ko (i

) 0K

[CR:]

Direction : In the

the set of figures which follaws um

Rule : Closed figures become mare and

open ond open figures become mare and.
d.

150.

Find the missing character from
the given alternatives.




x=02 and y=0,-2

145,

Haytedy=0

Egs. (i) and (ii),

*(=x)+ d(-x)=0
2t -4x=0

fx-2-0

Let 6be the angle between a + band &=

a+b)(a-b

aption (c)

g cos =

“ieri+1J4+9525
= 0=90"
4. Let A and B be wo subsets of 5.
Tollowing cases to make a subset of S, U8
Eiven condition ie. A LB = S and
Casel : I ser A has o element.
ways of selection of 0 element fi




TF this Timit is zoro, dhen g

=1 p
Given equations are

B4 ¥ 4 g 0 x g

: 1F3e8 A has i elements, The nomber Since
. The numbe nee the sysiem b
of selection of n elements from ser then e

SeofA="Cy+ 0, + T+ 17C
-7

Serof A a-d B = 2 x 27 - 01 APPIYing G, ~ €, =€,

and Cy—Cy -C,

juired probability = 2. . 1 i

probabilicy = = - — » 1

#sin0  sin?0 sin’ 0

1 g=1 l-q|=0
1 0
= cos®0 1scosto 03’ |=0 B
4sindf  dsindd 1+ £sin40 (=28
B R, = (- p-ga-r)
2 1
1
8  licosf@  cos’O |-0 L=
Sin40  4sin40 1+ dsin40) 0-p-aE=g
B, 0, —2C;.C, €y -26, w1 L
[] 1| ;

1
et

1-cos® 0
40 -2-4sin40 1+ 4sin4q)

n 48) + (1 — cas” B)(2= 4sin 4071 =0
204 4 cos® Bsin 40+ 2+ 430040
2cos? (1 — 4 cos” Bsin 401 =0 . Given that (i, ) lies on the
2+ 4sin 480 aleplel
o it can be rewritten 35
;_g&.uuu)-h" 5




s R

e = foin Jhdee

2+ c=0 i

RN = [tsin" J§ +cos!
[}

. i
=1(0F -9(-2F -0
o
9()=-9<0
d h? <ah,

—

1
=g (#n)=2n

12. Given that f(x)=

4
xal
Since, it is an even function the

Isalways greater than equal to.0.an

ext+l o0 5 —

el
Required range is [0, 1).

13, Given sin" (1 - x)+ 2sin"} x =

sin ! (1-x)=F + 2a



PARTRREES
#0120, o Oy F

det(5A4%)
(4%) = Sder(Ay

Ao ddu-2dt
Ve -1

[

)

RHD = lim

1+sin @+ k-1
i

= lim
=43
sink
o
£ (x)does not exlse atx =0,
Givencurveis ¥ =dx
Let the equation of ine by y

dr
since 3




Again using L Hospital
4 (sec’f) + 2sec’tan 04+ 5

L
¥ 23. Let f (x)=2x" - 3x? - TN S)
i ) f(x)=6x" ~6x -12
By Put f* (x) = 0, for maxima or mig
R, 6~ bx -1

3 P ex-2=0
. () and (i), we get
T - 2c+ 42200

(x-2)ix+1)=0
1

x)is maximum at x ==l
x=4

ed arca = Area of curve OABCO
= 2Area of curve OABO

=2[yde
H

B,
=22 ) - (7)) o
i

—Rjn‘zx’mf ng lind and Hird term
b 4-dx=l=2y

From (i) x =3

On putting value of x in
y=3

‘On puting the value

-




AtALing w.re x, we ge:
.x“h”"'h’_ﬂ’h_-‘ll
@1
L Ao 4
ey =

also ¢

3)-f
P4 3q-gg.
{5 and gify
LS

ks,
Fiom Egg.

Now,

¥
ArelvingC ~ ¢, ~ ) oS
e 1 0
= 1 p-1 ey
1 o

equation of lines are
XY +2r e 2y s dml
@+ A+ Y=d

X+ 20y




ﬂdhun(leoonddr:le
=0 are € (25 and

: perpendicular distance from cenire
o dius of the cirele

ine intersect the plane
=0, then any paint on the jine

D+ -2+ 3-1=0
1220 — k.3

36. Given that, It is given

= l+az
Similacly, 1 + B2 2§
L+yzafy
and 1+522/8
Multiplying Eqs, (i), (i), (iv) and g
(+a)(1+B)1 + )0 + 8) 218
= O+ +B)0+ 1)+ &1
Given that
[ 2k 2w
ﬁ. (in (%) (2]

if ()

38. Given that
Y dr _ 1 eyl
'”"”'\u-ﬁ[a ‘123

1(dy), 1(dr)’ 2
orrom-1-5 (o) 58
¥ [x)=gbe
Taking log on both sides, we get
dy. 8
logy (x)=3%
The degree of this equation is 1.
39. Given x, x, are the roots




of any plane through (2, -1, 3) &
D+ by + 1)+ cfz - 3)=
a band ¢ are difection ratios, Since
is parallel to a and b
3a+0b-c=0 i)
~3a+2h-2=0 (i)
Eqs. (ii) and (iif], we get
R Er R (say)
a=2k b=k, c= 6k
the values of a, band cin Eq. (i), we get
=2)-3k(y + 1)+ 6k (z -
-3y +62-2520
is a required equation of a plane,

of line passing through (=1, 0)is
¥=0=m(x+1) i)
line makes an angle = 120°
= tan 0 = tan 120°
. om=-43
the value of m in Eq. (i), we get
==3x 1)

+putz=aa’ + o
pen + B ?)(waa” + )

* 2
+apa’+plo’)

43. Given that
r-[“-‘ em’[ihv;
On differentiating w1 we get
i Z’T(“* 3]""(3#'4
s §

|1
I 1
=i-1242-j-8-1+ Kised)
=-10i+ 9j+ 7k
i A
and (@xy)=2 3 -1
et Lz
~i@+n-jR+nsk
=-4i-3j-k
Now sk P (s =7

=100+ 9]+ 7R




he internal force is applied on the

- will not succeed. According 1o

‘the state of a body can only be
exernal force is applied an

N/m® or paseal  (in 51 system)

(in OGS System)

1is not the unit of Young's maduly

0 Stefan's law the energy emitied by
secand Is directly proporional 1o
power of the emperature of e
the temperature of blue glass s
that of red glass, so it will look

=100 75 _ 475
]

118750

large and R be the smaller

Again,

sw=3m 15
%—R:\ss%=u
R-90
53. If we take R, = €2 R, =130,
then in series resistance
R=R,+R,
—a+12
-160

inprlel, resvmnce .= 220

S0,k =4NandR =120
B4. Let the resistance of voltmeter is GO
". Total resistance of the circuit

+5n]n

G x100
\G+100

: v
Toral currenti =
i

Voltage across 100 ) resistance
(Gx1007 10

+ mn} TG =100
(:; ~100

Reading of voltmeter =5V
Voltage across 1000=5¥.

i ¥
fG =100
|6+100 +soi

On solving 6 = 1000

+50

5. According to Wien's law.

Axg

te, it depends on the
surface. E




4. Both the stones will b e
they it the ground, B
66. The time taken by the particle o

position from the trough =1
- 4+

/m, B = 0.4 W/ i

of electron along the
E

Frequency = 6 x 60
=360

-~
68. Velocity of sourd \-—\.%
vu _ [Mg
vo YMy

=g

VT

=4:1

have negative 69, For sooometern < g

. Thus, (¢} is wrongly stated
. § 3 n_h_ 356 16
coil works on the princile of 2 pedore

0. Wave theory of light was first proposed
Christian Huygens.
5 the dimension of time. 1. Far the liquids, which do not wet the g
1

area enclosed by F-x graph Jid meniseus is convex upward, S0
o contact is obtuse.
72, Radius of path of electron
=
Bq
m and 4 remain unchanged.
1.5 5
bt
v B/2_1




When interspace
with wax, then

¥ o
=25
25 = K=

de-Broglie wavelengh

5 JZmE

L
=4 and n =2
ing the forward bias voltage, the
decreases. This results in the
charge carriers. Hence, widih

depends on the amount of
or goometry and size of the

il ateach point on the circular path
nd neutrons in the nucl

ed light is incident at
reflected light is

In fig. X, the right half of the:
sheet is folded over the left half.|
semicircles are punched into th

the two halves will join to fo




